EARAROBEEIERT — 2 N— IBISH —F

20165F8A4H () 8mPi5I6H

m 3mlbEC4—2 C4 5% (xwlw | lmEmml - |5 ) 0w 8
[A&4£] 17 :200,000 ™ ~ 23%&:40,000”  33:30,000” . 437&:20,000MH .~ 57 :10,000
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
> 4 5 | FETE 1:02.1 6-6 37.9| — 3 454 | EPREZ (dtimdE)
1 3 *TLRE 54.0 (=) (+6) A E .
L:FLNnvTy Tt BTy TrM4Ta xatie]
. s 4 | BIEREE 1:02.4 1-1 38.5| — 6 462 | WHEFIR (LiEE)
20819 JzA b7 Y — 54.0 (1 1/2) -2 | B *E?ktﬁ(i%l_
R:g4xS 0 ML BivENEE—%— ARG
= = 4 3 | BFEh 1:02.7 6-6 38.5| — 1 476 | /MNEEL (dtiEE)
3/8]8 HhT7N\YT 52.0 (1 1/2) (+8) =1 =
L7 R4 Y<2y IR B:J)-X74 EAXR HBiE
s 4 2EFY :03. = . - IN#E (Gtea)
411 | 772=-T77—=2R # 56.0 (11 013/20) e %5 ! ;‘f‘g AIAE= o
R:2Y94 7 bHLEN BT S pAcZie]
. RPN KEFHI :03. - . - FEEM (dbimE)
sB6l 77y ovTUL R oY e I AL e
R:TFv 784K B:32V5U> FR%E
T 4 3 | BBNkAT 1:03.2 3-2 39.2| — 2 472 | ARRERER (dtiEE)
6l717|77F%>78L4 56.0 (7€) © |BRABL a
R:T7y3IZ3—L B:IFF>TLTF1 e
NS 1% % REBA : - - ERFE (dteE
S BEETIEE |8 a7 I R Sl B I I -
RYIRGT4 T2 BT ENT—F KI5
= : AR A : - = BERE (i)
glsls|F1—XAXIy K i 3 Asmxﬁ 1(.10/32.)8 3-4 39.8 5 (:?E) &%\%A e
L:ALNTyFILE BAXIy by F— K&
= AN BRARS 2 - - - - - —  |#EAEHES (dted
w2 | TT =TT S ] () <) i
Riv—NFIXHLTF— BN F—THA 5% — i
® I—F—@EBIERL
13—-7-
23—7F—
33—F— (6,9),(4,5,7),(3,8),1
43—F— 9,(6,7),(4,5),(3,8),1
[ RN
-y 3 850 | | 71 K 3-9 1,440 | | # = 3-8 770 | | 3EE 3-8-9 3,450
# B 3 1804 3-8 340 B E 3-9 5,700/ EE 3-9-8 42,4704
9 400M 8-9 520M B H 3-9 9,930M
8 110/

ABICOVWTRDTEEERROODE. TR LIV,




